
� No.132B-10-1 �

No.132B-10-1 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 9× 966 = (2) 744× 9 = (3) 7× 491 =

(4) 4× 341 = (5) 5× 547 = (6) 497× 5 =

(7) 3× 897 = (8) 5× 189 = (9) 607× 4 =

(10) 2× 352 =

� 13th-note �



� No.132B-10-1 �

No.132B-10-1 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 9× 966 = 8694 (2) 744× 9 = 6696 (3) 7× 491 = 3437

(4) 4× 341 = 1364 (5) 5× 547 = 2735 (6) 497× 5 = 2485

(7) 3× 897 = 2691 (8) 5× 189 = 945 (9) 607× 4 = 2428

(10) 2× 352 = 704

� 13th-note �



� No.132B-10-2 �

No.132B-10-2 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 7× 181 = (2) 7× 909 = (3) 448× 2 =

(4) 9× 338 = (5) 783× 8 = (6) 2× 933 =

(7) 7× 505 = (8) 4× 341 = (9) 633× 8 =

(10) 555× 5 =

� 13th-note �



� No.132B-10-2 �

No.132B-10-2 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 7× 181 = 1267 (2) 7× 909 = 6363 (3) 448× 2 = 896

(4) 9× 338 = 3042 (5) 783× 8 = 6264 (6) 2× 933 = 1866

(7) 7× 505 = 3535 (8) 4× 341 = 1364 (9) 633× 8 = 5064

(10) 555× 5 = 2775

� 13th-note �



� No.132B-10-3 �

No.132B-10-3 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 206× 3 = (2) 8× 668 = (3) 754× 8 =

(4) 634× 6 = (5) 9× 491 = (6) 2× 696 =

(7) 6× 269 = (8) 3× 497 = (9) 172× 9 =

(10) 241× 3 =

� 13th-note �



� No.132B-10-3 �

No.132B-10-3 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 206× 3 = 618 (2) 8× 668 = 5344 (3) 754× 8 = 6032

(4) 634× 6 = 3804 (5) 9× 491 = 4419 (6) 2× 696 = 1392

(7) 6× 269 = 1614 (8) 3× 497 = 1491 (9) 172× 9 = 1548

(10) 241× 3 = 723

� 13th-note �



� No.132B-10-4 �

No.132B-10-4 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 460× 6 = (2) 9× 205 = (3) 2× 781 =

(4) 755× 2 = (5) 6× 550 = (6) 7× 664 =

(7) 832× 8 = (8) 245× 6 = (9) 7× 812 =

(10) 6× 986 =

� 13th-note �



� No.132B-10-4 �

No.132B-10-4 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 460× 6 = 2760 (2) 9× 205 = 1845 (3) 2× 781 = 1562

(4) 755× 2 = 1510 (5) 6× 550 = 3300 (6) 7× 664 = 4648

(7) 832× 8 = 6656 (8) 245× 6 = 1470 (9) 7× 812 = 5684

(10) 6× 986 = 5916

� 13th-note �



� No.132B-10-5 �

No.132B-10-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 8× 670 = (2) 468× 4 = (3) 6× 551 =

(4) 130× 6 = (5) 9× 880 = (6) 7× 701 =

(7) 6× 616 = (8) 443× 5 = (9) 9× 107 =

(10) 979× 7 =

� 13th-note �



� No.132B-10-5 �

No.132B-10-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 8× 670 = 5360 (2) 468× 4 = 1872 (3) 6× 551 = 3306

(4) 130× 6 = 780 (5) 9× 880 = 7920 (6) 7× 701 = 4907

(7) 6× 616 = 3696 (8) 443× 5 = 2215 (9) 9× 107 = 963

(10) 979× 7 = 6853

� 13th-note �



� No.132B-10-6 �

No.132B-10-6 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 7× 389 = (2) 9× 728 = (3) 8× 900 =

(4) 8× 678 = (5) 838× 8 = (6) 3× 467 =

(7) 208× 5 = (8) 9× 877 = (9) 675× 7 =

(10) 7× 652 =

� 13th-note �



� No.132B-10-6 �

No.132B-10-6 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 7× 389 = 2723 (2) 9× 728 = 6552 (3) 8× 900 = 7200

(4) 8× 678 = 5424 (5) 838× 8 = 6704 (6) 3× 467 = 1401

(7) 208× 5 = 1040 (8) 9× 877 = 7893 (9) 675× 7 = 4725

(10) 7× 652 = 4564

� 13th-note �



� No.132B-10-7 �

No.132B-10-7 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 3× 531 = (2) 145× 7 = (3) 228× 3 =

(4) 755× 5 = (5) 866× 3 = (6) 513× 5 =

(7) 9× 660 = (8) 4× 697 = (9) 5× 972 =

(10) 8× 407 =

� 13th-note �



� No.132B-10-7 �

No.132B-10-7 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 3× 531 = 1593 (2) 145× 7 = 1015 (3) 228× 3 = 684

(4) 755× 5 = 3775 (5) 866× 3 = 2598 (6) 513× 5 = 2565

(7) 9× 660 = 5940 (8) 4× 697 = 2788 (9) 5× 972 = 4860

(10) 8× 407 = 3256

� 13th-note �



� No.132B-10-8 �

No.132B-10-8 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 300× 7 = (2) 161× 6 = (3) 9× 819 =

(4) 4× 434 = (5) 8× 570 = (6) 3× 517 =

(7) 2× 560 = (8) 266× 7 = (9) 961× 8 =

(10) 5× 599 =

� 13th-note �



� No.132B-10-8 �

No.132B-10-8 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 300× 7 = 2100 (2) 161× 6 = 966 (3) 9× 819 = 7371

(4) 4× 434 = 1736 (5) 8× 570 = 4560 (6) 3× 517 = 1551

(7) 2× 560 = 1120 (8) 266× 7 = 1862 (9) 961× 8 = 7688

(10) 5× 599 = 2995

� 13th-note �



� No.132B-10-9 �

No.132B-10-9 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 682× 7 = (2) 122× 7 = (3) 231× 8 =

(4) 7× 757 = (5) 882× 4 = (6) 178× 9 =

(7) 370× 7 = (8) 9× 259 = (9) 609× 6 =

(10) 199× 6 =

� 13th-note �



� No.132B-10-9 �

No.132B-10-9 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 682× 7 = 4774 (2) 122× 7 = 854 (3) 231× 8 = 1848

(4) 7× 757 = 5299 (5) 882× 4 = 3528 (6) 178× 9 = 1602

(7) 370× 7 = 2590 (8) 9× 259 = 2331 (9) 609× 6 = 3654

(10) 199× 6 = 1194

� 13th-note �



� No.132B-10-10 �

No.132B-10-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 4× 388 = (2) 9× 308 = (3) 7× 881 =

(4) 7× 353 = (5) 635× 8 = (6) 5× 834 =

(7) 5× 399 = (8) 8× 397 = (9) 315× 2 =

(10) 5× 222 =

� 13th-note �



� No.132B-10-10 �

No.132B-10-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 10点）

(1) 4× 388 = 1552 (2) 9× 308 = 2772 (3) 7× 881 = 6167

(4) 7× 353 = 2471 (5) 635× 8 = 5080 (6) 5× 834 = 4170

(7) 5× 399 = 1995 (8) 8× 397 = 3176 (9) 315× 2 = 630

(10) 5× 222 = 1110

� 13th-note �


